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Time Allowed : Three Hours—’ Maximum Marks : 2501

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in.sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left.
blank in the Question-cum-Answer Booklet must be clearly struck off.
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WUs—A / SECTION—A

1. Fr=fifaa ys I &1 ST AT 150 Tl | AN

Answer the following questions in about 150 words each : 10x5=50
() =ETEE R Fh I @GR TR A B sl ¥ TE a1 A Y wged @ FR i
Bt 1

Explain how equilibrium rate of interest and income are determined with the
interaction of both product and money market.

(b) TG gE A 5 W@Wﬁm%w—wmﬁuﬁml
Distinguish between post-Keynesian approaches to horizontalist and
structuralist theory of endogenous money supply.

(0 el danem i % sdere § T e 3R e S, e S

Explain how renewable resources will play a role in future economics.

(d) @wﬁmﬁmmm%mwmﬁmlm-ﬁwﬁaqmﬁﬁﬁ
Feam iR &% % wr AR Fre Fedl i B At

Mention the classification of assets held by a commercial bank. Discuss the
problems faced by commercial bank due to rise in NPAs.

(e) T Rrar ¥ v A frela % et e frgr i same Hifvm)
Explain Myrdal’s cumulative causation theory as the theory for development.

2. (a) AR o w0 S 87 weRia FRE B seafEr F o Hiew IuH IR W H T
oy Sma &1

What is conjectural variation? Show how some models of oligopoly are derived
on the basis of it. 15

(b) weRfa A f5 3R @ T w Faba w3 § wreg AfEE @ aew it Ao
Bt B

Show that systematic monetary and fiscal policies are ineffective in controlling
output and price level. - 15

(€ () SRR iy ) st w1 s 87 w0 Am aea € R el o ewfoa g .
??
(i) seRta Hifkr fF AR My e goa A 9@ 3, @ 3ha T aeh i gEfe siem-wr )

() What makes technical progress endogenous? Do you think that
technology is a ‘non-rival’ good?

(i) Show that if the research becomes more successful, the growth rate
will increase and hence the standard of living. 20
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3. (o) U i fr T am fRR g @rmel s C W C,, MR C >C,, ol @ v o
TSR B | T IR F 98 Fger H1 87 9r YRl wgem @ fhe weR R 27

Suppose that we have only two firms in the market with constant marginal
costs of C; and C, respectively such that C; >C,. What is the Bertrand
equilibrium in this market? How is it different from the competitive
equilibrium? . 8+7=15

(b) “‘a'l’maﬁﬁsﬁuéaaﬁaqﬁﬁ?ﬁ%l”wmm%?%aimaﬁm%mﬁéﬁgm
IR & W Hifm)

“Even green energy is not always green.” Do you agree? Illustrate your answer
taking biofuels as an example. 15

(c) et T A # Frefifad s W st Ruu & ¢

WEFEA =9 = 300

e fraw = 200
3% fafa = 50
@R & = 250
AR R = 01
= 39w w9l = 0-5

(i) 9 AM@ (Y) 1500 % SR B, 3P (C) 600 | WM™ 39907 ¥ &t B

() A dhgEl—admen & smR f R @ R § Affe fla agen @l
(W Yy, A Yy,,) ¥Y T Hifi)

(ifi) 3M9H TR (i) T I Yy, F AR TR areht sfemaen § wgen Frla @ # on 9@ 1w
Fafdt 7 uftad ¥g 5@ ) afads F vfemor w@ @¥a SF1 1 S

[oRmEl & 000 #g ¥ &, Tywd: 9 W wd Wo Io Yo H 3yl |

You are given the data on the following variables in an economy :

Government spending = 300
Planned investment = 200
Net exports = 50
Autonomous taxes = 250
Income-tax rate = 0-1

Marginal propensity to consume = 0-5
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(i) Consumption (C) is 600, when income (Y) is equal to 1500. Solve for
autonomous consumption.

(i) Solve for the equilibrium levels of output denoted (respectively by Yy,
and Y,,,) in the two scenarios—presence and absence of income tax in
the economy.

(iii) Solve for the change in net exports that would bring the equilibrium
output level in the economy with the income tax to the level of Y,

that you found in (ii). Specify both the magnitude and sign of the
change.

[ Figures are in ¥ 000 crore, obviously except tax rate and MPC] 20

4. (o) IS W AN FB Fraia A H iE gEEa (FETRE) ToH WA 1 T e <9 5g
Frafa waifreh & Frafafas et # we w0 % fag gf sfeadd % sl @ eifis agem
Hisd %1 ST Hifv

() & Fia aelReht F S yE
(i) WERER ¥ -8 TYE e I FH-A1 fawa A @ R?

Many countries subsidize some of their export industries. Use a partial
equilibrium model under perfect competition to illustrate the following effects
of an export subsidy for a large country :

(i) Welfare effects of an export subsidy

(i) Which group is winning and which is losing from the subsidy? 8+7=15

(b) TEA ™ | @ W a1 aaq W Fruffa =3 ¥g Feer F faaw R ) 989 § ==
S| HeeR & T (Aledt) Fit IBs hi F=ra1 H e Fivg)

Briefly state the Kaldor’s theory of distribution in determining the share of
profit and the share of wages in national income. Explain the mechanism
behind Kaldor’s model. 15

(c) weRia v fF et vieel 1 fer IR g0 sfmka swasfe o R 3§ &R
F=d B I )

Show how the idea of monopolistic competition becomes intrinsic to the
endogenous growth theory as postulated by Romer. 20
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@Us—B / SECTION—B

5. frafafas v&% w1 =1 39 omnm 150 vzt & difv -

Answer the following questions in about 150 words each : 10x5=50
(a) @ﬁﬁaﬁmmﬁwa@aﬁﬁq,ﬁ%mmﬁmwmﬁm@m
=few)
State Arrow’s five reasonable conditions which a social welfare function must
satisfy.

(b) m@amﬁm%mﬁﬁw@amsﬂm—w%ﬁﬁaa@ﬁm%ﬁ
Hifsg

In the context of international trade theory, discuss in detail the various stages
of the international product life cycle.

(c) mwwmém%mmﬁwaﬁﬁ%ﬁmﬁml

Discuss the issue of compatibility between international trade and
environment sustainability.

(@) & foFmefie s % w=d § s oy WA € f gm AR B g § oo AR
arfereh Tt R7 A9 IW F U F HRo g A

In the context of a developing economy, do you think that fiscal policy is more
effective than monetary policy? Give reasons in support of your answer.

(e) TF W & gl e forepre F wrdfores-Fsht wmdierd 33 weraan s 2, samem St

Explain how public-private partnership helps in the rapid economic
development of a country.

6. (@) TH AfFaEw #, WHR T 93 oy Uh w3 wofem’ g0 ey sdsamen )
WiedTEd HW H 546 R @ R

() ¥ WA g % S @ fEm @ g A vew 2, sdsarn ¥ e W W
U9 B HehaT 87

(i) TS 8 T WA § 75 7% ghE ¥ o 4o =R § fewaret ®) e ww@ 2
witeor s 5 R e @ o 3 swwta ael snisgaen S wevhy wedt 2

In an economy, the government is trying to boost the local economy by a
massive advertisement ‘buy local—local is best’.

(i) Assuming that the public tend to be persuaded by the campaign,
what effect might this have on the economy’s multiplier?

(@) Critics argue that this is unfair and leads to distortions in free trade.
Examine how the economy performs here under flexible exchange rate
system. 8+7=15
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(b)

(c)

(b)

(c)

(b)

AR F ‘g Py Rgra ¥ stge w7 ared X7 AR H ‘@ N IRy § wEE 1S-LM wer!

F 99 HY i afafda #0817

What do you mean by Tobin’s ‘q’ theory of investment? How would you modify

the standard IS-LM functions in the presence of Tobin’s ‘q? 15

s fiR B e s g At yRemh semn oted R FEa ¥
et i 3@ fifw

Explain how Keynesian speculative demand for money is restated in regressive
expectation model. Point out its limitations. 20

st wm R aTeh U e § fowe ¥ e wiea H I AR N g H Hsw
TFega: Yoh-Aa 17 RO sw@Ee)

Describe Lewis model of development in an economy with unlimited supply of
labour. Is Lewis model really capital-driven? Give reasons. 8+7=15

e R afiE speeEer § ufEn § i wiE e 81 A SRR
I9geh ITEI | wE FR|

Explain how trade blocks are important in the process of economic
globalization. Illustrate your answer with suitable examples. 15

2 | weRt C, = g2, C, =22 T R TSR /i wed P =100 - (g; +4g2) A
Tredt Fotdl o 3earea s §) el D B $1-T9 gged | W 2 FEE W deN T
Trger Wl ger & IR FATH AT B ) e i % T8 e i R

Two firms produce homogeneous outputs with cost functions G, = q12, Cy = 2q%
and the inverse market demand function P =100 —(g; +g,). Show that at the

Cournot-Nash equilibrium, firm 2 makes higher profit than at the joint profit
maximizing equilibrium. Explain why this is so. 20

fiva § Rfm 3 ¥ 7w R v PR varE § sfrea ofeddl 6 sren $ifv) @ iad
¥ wg@ Arfesfi st i faa= fifsw)

Explain the recent changes in the trade and investment flows among different
countries in the world. Discuss the major factors that led to these changes. 8+7=15

ol A agell, A IS A TH I HRE AA WH A IJARH Ao feraen #,
‘e’ Sreferaeen W) 3EAHaT ¥ navaw fufadl i g AR
In an economy with only two commodities, two consumers and two producers

with single factor of production, derive the necessary conditions for Pareto
optimality in a ‘perfect’ economy. 15
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(c) Wﬁﬁﬁ%ﬁﬁaaﬁaﬁﬁaﬂmiﬁﬁmﬁuﬁqwﬁ%ﬁaﬁaﬁ@nwmﬁgmﬁ
4 TR A €, =@ Hifvg

Discuss different forms of subsidies. Explain how perverse subsidies are

detrimental to the economy and environment in the long run. 20
L8 & 4
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